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01k F15 201446 H14H
5 Fai8ah VS o EkigrhiE
H= A=
RIS BRI BRI B
1t : BREE 7 : P 1t - Sk 7R : HifE
Bzl iy = L 79 E5H
mix | R |moA| me | gn | mien 2o B | R | wee| T | =Y
1 NTo x 5Hx -2 300 it 5Cx = 550 6
2 [E2ple x 2S +3 -200 [£3] 3H -2 -200
3 panyiic] [ri] 4S +1 -650 x 4Sx = -790
4 E=] [£3] 4Sx -1 -200 x 4H = -620 9
5 2] ¢ x 2S +1 -140 x 2S +1 -140
6 =] [ri] 3NT +1 -630 1t 5Dx -800 5
7 =] x 2H = -110 x 4HX 800 14
8 NTo [£3] 1S +1 110 [£3] 2S = 110
9 panyiic] [£3] 7SX -3 -500 [£3] 7SX -4 -800 7
10 | \W_/ 1t 4H -100 1t 4H = 620 12
11 | X [£3] INT -1 -50 [£3] INT -1 -50
12 | @it [ri] 5D +1 -420 x 7D = -1440 14
DATUM#it HEE
3l EkigrhiE 5 39 | 32
BB/ B R -20 N 22 &it 39 | 32
H{E3/E8 22 PH/EE 20 V.P. 12.31 | 7.69
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2 hlliiES VS 7 BRRAZHE
H= A=
R B T L
Tt - FRIE R EEY T 7 kEE
e R & EX T - [
mix | R |moA| me | gn | mien 2o B | R | wee| T | =Y
1 NTo [£3] 4Sx +1 690 it 5Cx = 550 4
2 [E2pe x 4S +1 -450 x 3S +2 -200 6
3 panyiic] [ri] 4S +1 -650 [ri] 4S = -620
4 =] [£3] 4Sx -1 -200 [£3] 3S = 140 8
5 2] d x 1S +1 -110 x 2S +1 -140 1
6 a~ie] x 4C +1 -150 [ri] 5D 400 11
7 =] it 2S -1 -100 x 4HX 500 12
8 NTo [£3] 2S +1 140 [£3] 2S = 110
9 panyiic] [£3] 6SXx -3 -500 [£3] 7SX -4 -800 7
10 | \W_/ [£3] 4H -100 1t 4H = 620 12
11 | X x 2H -2 100 [£3] INT -1 -50 4
12 | @it x 5D +1 -420 [ri] 5D +1 -420
DATUM%SEit e
UL BRIk w6 | o | %
MITR/REZ O SE/ARE 35 &it 17 50
oREEZE/MAESE  -35 =B /E R O V.P. 2.14 | 17.86
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3 TNELR VS 8 BEEMER
H= EiES
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It : S 8B 1t : BiER 5B
o BRKE 7g Bt EzRRIEN ) 75 BRI
mix | R |moA| me | gn | mien 2o B | R | wee| T | =Y
1 | X&) db 6C -2 | -100 | 7 5Dx | -3 | 500 12
2 |kl m | 3H | 2 | 200 | %® 2s | +3 | -200
3 |#zm| @ | 4s | +1 | 50| 7 | 4s | = | -620
4 |wma| & | 4sx 200 | & 3s | = | 140 8
5 |dt] & 3s -2 | 100 R 2S = | -110 5
6 |&m| @ | aNT | +2 | 660 | 7 | 3NT | +1 | -630 1
7 |wal % | 4Hx | 2 | 500 ] & | 3H | 12 | 100 ] 9
8 |wx|l %= | 3D | -1 | s0 3 2s | = | 110 2
o |%m| & | 7sx | 4 | so0o | & | 7sx | -4 | -800
10 |wal 46 | 44 | 2 | 200 | 4t | 44 | = | 620 12
11 | wE| it 2s | -1 | 50| @ | aINT | -2 | -50
12 |@dt] 7 | 5D | +2 | 440 | %= | 5D | +2 | -440
DATUM&tit iFE
I PHETHR EMER . -] 14 | 36
RNRBUKE 17 BT R/M{BIEEE 8 ait 14 | 36
BENXE/SELL -8 e aa s | 17 V.P. 4.01 | 15.99
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%1 4R 201446 H14H
4 FIBE VS 6 I H4Eh
H= A=
S e e T
T mEE 7 XN Tt kA P —
gy 7 - & - X 7
mix | R |moA| me | gn | mien 2o B | R | wee| T | =Y
1 NTo x 5Hx 300 x 5Hx -2 300
2 [E2pe 1t 2NT -4 -400 [ri] 2S +3 -200 5
3 panyiic] [ri] 4S +1 -650 [ri] 4S = -620 1
4 E=] x 3H +1 -170 x 4H -1 100 7
5 2] ¢ x 2S +1 -140 x 2S = -110 1
6 =] x 3SNT +1 -630 x 5C = -600 1
7 =] x 3HXx = -730 x 3HXx -1 200 14
8 NTo [£3] 4S = 420 x 3D -2 100
9 panyiic] [£3] 6SXx -3 -500 [£3] 7SX -4 -800
10 | \W_/ 1t 4H = 620 1t 4H = 620
11 | X x 3H -2 100 [£3] INT -1 -50 4
12 | ik [ri] 5D +1 -420 [ri] 5D +2 -440
DATUM%SEit e
iFYIEE I ERE v, 3] 20 29
BREa/Z=EF -4 ok BR/XURR 5 Aait 20 29
TRE=/X% -5 Xll7)\se/{nT32 & 4 V.P. 71 | 129
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%1% %5 5 20146 H14H
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B . BEE 7 : ERER B9 : JCONEE 79 BUR=

mix | R |moA| me | gn | mien 2o B | R | wee| T | =Y
1 NTo [£3] 4S = 420 x 5Hx -2 300 3
2 [E2pe [ri] 4D +2 -170 [ri] 3S +1 -170
3 panyiic] [ri] 4S +1 -650 x 4S +1 -650
4 E=] x 4H = -620 [£3] 4Sx -1 -200 9
5 2] x 2S +1 -140 x 2S = -110
6 =] [ri] 3NT +1 -630 x 5C = -600 1
7 =] [ri] 3NT -3 300 1t 2S -2 -200 11
8 NTo [ri] 2Cx -2 300 [ri] 3Cx -3 500 5
9 panyiic] 1t 7SX -2 -300 [£3] 7SX -4 -800 11
10 | W&/ 1t 4H = 620 1t 4H = 620
11 | X it 2S = 110 it 2S = 110
12 | ik [ri] 5D +2 -440 [ri] 5D +2 -440
DATUM&it iAEE
SR ['&F&a r. X+ 25 | 16

LZDK/ZRGEE 15 SKIF =/} AU AN 3 ait 25 | 16
Shf/igs -3 BHELAERXR  -15 V.P. 129 | 71




